

Subtracting Fractions (Changing One Fraction)

Subtract the following fractions by getting a common denominator first

a)
$$\frac{7}{10}$$
 - $\frac{1}{2}$ $\frac{7}{10}$ - $\frac{1}{10}$ =

d)
$$\frac{23}{25}$$
 - $\frac{2}{5}$ $\frac{23}{25}$ - $\frac{2}{25}$ =

b)
$$\frac{4}{5}$$
 - $\frac{4}{20}$ $\frac{4}{20}$ =

e)
$$\frac{6}{7}$$
 - $\frac{11}{35}$ $\frac{11}{35}$ = $\frac{11}{35}$ =

c)
$$\frac{2}{3}$$
 - $\frac{1}{12}$ $\frac{1}{12}$ $\frac{1}{12}$ =

f)
$$\frac{8}{11}$$
 - $\frac{3}{22}$ $\frac{3}{22}$ =